
82 1/2"
MAX

FRAME

HEIGHT

25" MAX

D.L.0.

FIXED

1<
1

1

1

71 1/4" MAX FRAME WIDTH

ACTIVE

145 3/4" MAX O.A. WIDTH

43

8

1

ef*

1

INACTIVE

h

OUT-SWING ENTRANCE DOUBLE DOOR (SLPS)
W/ SIDELITES FIBERGLASS CLAD

EXTERIOR VIEW

DESIGN PRESSURE RATING

+7OPSF

SHEET NO.

1, 2

3, 4

5-9

1

IMPACT RATING

NONE

1

1

36 5/8"
MAX FRAME

WIDTH

FIXED

TABLE OF CONTENTS

ELEVATION AND NOTES

ANCHORING LAYOUTS

INSTALLATION DETAILS

DESCRIPTION

63"

MAX

D.L.0.

.

DRAWN:

V.L.

10)

11)

REV

A

B

DESCRIPTION

ADDED EDGE DISTANCES

REVISIONS

REVISED SIDELITE INSTALLATION DETAILS 05/14/15

SCALE NTS

08-01891

REV

B

DATE

11/05/14 R.L

R.L

APPROVED

NOTES:

1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO
COMPLY WITH REQUIREMENTS OF FLORIDA BUILDING CODE.

2) WOOD FRAMING AND MASONRY OPENING TO BE DESIGNED AND
ANCHORED TO PROPERLY TRANSFER ALL LOADS TO STRUCTURE.

WOOD FRAMING OPENING IS THE RESPONSIBILITY OF THE

ARCHITECT OR ENGINEER OF RECORD.

3) 1 X BUCK OVER MASONRY/CONCRETE IS OPTIOINAL. WHERE 1 X BUCK IS
NOT USED DISSIMILAR MATERIALS MUST BE SEPARATED WITH APPROVED

COATING OR MEMBRANE. SELECTION OF COATING OR MEMBRANE IS THE

RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF RECORD.

4) APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED FOR THIS
PRODUCT IN WIND BORNE DEBRIS REGIONS.

5) UNITS MUST BE GLAZED PER ASTM E1300-04. SEE SHEET 5 FOR
GLAZING DETAIL.

6) ALLOWABLE STRESS INCREASE OF 1/3 WAS NOT USED IN THE DESIGN
OF THE PRODUCT SHOWN HEREIN. WIND LOAD DURATION FACTOR

Cd=1.6 WAS USED FOR WOOD ANICHOR CALCULATIONS.

7) FRAME JAMB AND HEAD MATERIAL: CO-EXTRUDED PVC FOAM.

8) FRAME SILL MATERIAL: CO-EXTRUDED PVC FOAM WITH ALUMINUM
CLADDING.

9) DOOR PANEL SIDELITE MATERIAL: FIBERGLASS SKIN WITH PVC
FOAM TOP AND BOTTOM RAILS, AND PVC FOAM VERTICAL
STILES WITH PINE REINFORCEMENTS AND POLYURETHANE FOAM

CORE.

HINGE LOCATION: 9", 40 7/8" AND 72 1/2" FROM BOTTOMI.

MAX PANEL SIZE: 34 1/2" X 80 5/16"

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

ELEVATION AND NOTES

DWG NO.

DATE 11/06/2014 SHEET
1 OF 9

SIGNED: 05/14/2015

·#12 ·<>GEN;' ·ld:&-
6, : E

2 *:.710,6251, .*=
51'*. STATE OF-·475

3*25*
//0/1111\\\\\\

.



82 1/2"

82 1/2" 1<

36 5/8

\

SINGLE (X)
EXTERIOR VIEW

1

1

1

ACTIVE

1

ACT/Vt,

71 1/4"

,1'NACTIVE 1

DOUBLE (XX)
EXTERIOR VIEW

1

ACTIVE

73 7/8

FIXED

SINGLE W/SIDELITE (XO, OX)
EXTERIOR VIEW

ACTIVE

108 1/2"

1

,'INACTIVE \

FIXED

111 1/8

1

1

ACTIVk

1

SINGLE W/SIDELITES (OXO)
EXTERIOR VIEW

FIXED

DOUBLE W/SIDELITE (XXO, 0XX)
EXTERIOR VIEW

FIXED

DRAWN:

V.L.

REV

A

B

DESCRIPTION

ADDED EDGE DISTANCES

REVISIONS

REVISED SIDELITE INSTALLATION DETAILS

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

APPROVED ELEVATIONS

SCALE
NTS

DWG NO.

08-01891

DATE 11/06/2014 SHEET
2 OF 9

REV

B

DATE

11/05/14

05/14/15

R.L

R.L

APPROVED

SIGNED: 05/14/2015

f»Rer':6

Sm : STAT OF 67:=
50 . A .47-/.-
*>*:LOR\Ot'*+42

,%/fe/6;vicia.Flit.
/4///1111\\\\\\



MAX

I ... 1 1

8" MAX

4" MAX

£ MAX -- --

U U

-1 1
MAX

I-.

MAX

9" MAX

ANCHORING LAYOUT

4" MAX

MAX

11
3" MAX

19"

MAX

O.C.

0 0

8" MAX

4" MAX

_2 1/2" MIAX.

19"

MAX

O.C.

5"

MAX

9" MAX

4"

E MAX

18 5/8"
MAX

2)

4"

 MAX

MAX

MAX

DRAWN:

V.L.

REV

3

DESCRIPTION

REVISIONS

REVISED SIDELITE INSTALLATION DETAILS

ANCHORING NOTES:

4)

5>

3)

A ADDED EDGE DISTANCES

REV

B

DATE

11/05/14

05/14/15

R.L

R.L

APPROVED

SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD

BEARING SHIM. SHIM WHERE SPACE OF 1/16" OR GREATER
OCCURS. MAXIMUM ALLOWABLE SHIM STACK TO BE 1 /4".

FOR ANCHORING INTO MIASONRY/CONCRETE USE 3/16" TAPCON OF
SUFFICIENT LENGTH TO ACHIEVE A 1 1/4" MINIMUM EMBEDMENT
INTO SUBSTRATE. LOCATE ANCHORS AS SHOWN IN ANCHORING

LAYOUT AND INSTALLATION DETAILS.

FOR ANCHORING INTO 2X BUCK OR WOOD FRAMING USE #10 WOOD
SCREW OF SUFFICIENT LENGTH TO ACHIEVE A 1 3/8" MINIMUM
EMBEDMENT INTO SUBSTRATE. LOCATE ANCHORS AS SHOWN IN

ANCHORING LAYOUT AND INSTALLATION DETAILS.

ALL FASTENERS TO BE CORROSION RESISTANT.

INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH

ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS, AND
ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS

LESS THAN THE MINIMUM STRENGTH SPECIFIED BELOW:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF G-0.42

B. CONCRETE - MINIMUM COMPRESSIVE STRENGTH OF 3,200 PSI.

C. MASONRY - STRENGTH CONFORMANCE TO ASTM C-90, GRADE N,

TYPE 1 (OR GREATER).

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

ANCHORING LAYOUT

SCALE NTS

DWG NO.

08-01891

DATE 11/06/2014 SHEET
3 OF 9

SIGNED: 05/14/2015

23«"8.1.:1&/839/2.
„62 ·>0 E N:21

.

S*:06251 '·*2
18?6'**t;Efts
3*25*

//0/1111\\\\\\



-

-

-fl

18 5/8"
MAX.O.C.

-

r.

18 5/8"
MAX. 0. C.

8" - rn .

1- 4" e - 1- 4" e
9»-=73 i_Lf

19" 19"

MAX. O.C. MAX. O.C.

01 0 el
r.

- 7- D - 4 5.
9" · · 9"

ANCHORING LAYOUT FOR OXO

34 5/8"

1 9

A.

1 1

- 0
R.

e -11- 5.

ANCHORING LAYOUT FOR XX

r, .

A.

-- 5" 5" -
1 .

18 5/8"
MAX. O.C.

0

18 1/4"

34 5/8"

1- 0 4"

-4
8

f 1 +'r=
It

1 -lili- f
19" 19"

MAX. O.C. MAX. O.C.

1 1

1 1 11 MUI

- -5. , , 9"

ANCHORING LAYOUT FOR XXO AND 0XX

 4
!1

18 5/8" 19"

MAX. O.C. MAX. 0.0.

- 1

31
19"

vIAX. O.C.

-1

2 1/2"

-11

. .1 9"

ANCHORING LAYOUT FOR OX AND XO

DRAWN:

V.L.

-- 2 1/2"

i__4_.

REV

A

3

DESCRIPTION

ADDED EDGE DISTANCES

REVISIONS

REVISED SIDELITE INSTALLATION DETAILS

18 5/8"
MAX. O.C.

REV

B

DATE

11/05/14

05/14/15

5

ANCHORING LAYOUT FOR X

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

ANCHORING LAYOUTS

SCALE
NTS

DWG NO.

08-01891

DATE 11/06/2014 SHEET
4 OF 9

R.L

R.L

APPROVED

SIGNED: 05/14/2015

=«U\:65::,2/8=/4..
2<>O E t; 4.Yi I
S *'0625 w · *2
E-0 41«00*»UP; E
1%1 SIATE OF .S
-5==Cri==14:f

//0/1111\\\\\\



INTERIOR

KEEPER --

EXTERIOR

INTERIOR

KEEPER 7

EXTERIOR

HEAD KEEPER DETAIL

0 [=1

FRAME SILL

SILL KEEPER DETAIL

5 27 / 32"

5--7

FRAME HEAD

OUTSWING DOOR SILL DETAIL

4

1

1

F #9 x 7/8" 1/8" TEMP

 SCREW
EXTERIOR

#9 x 7/8"
SCREW

1 5/8

1 /8" AN N

.090 PVB BY DUPONT

1/8" ANN

INTERIOR

STAINLESS -
STEEL

SPACER

SYSTEM -t»» 1' 1/2" BITE
DOW 995 »»\\\ 1

GLAZING DETAIL

#10 x 2" SMS--

#10 x 7/8" SMS--

#10 x 2" SMS -

#10 x 7/8" SMS-

JAMB -1

-0

LI Cf

1 GLAZING BEAD

PANEL

HINGE INSTALLATION DETAIL

T #10 x 2.SMS

HARDWARE SCHEDULE

A. (3) 4" BUTT HINGE

B. 2 POINT LOCK SYSTEM

STAINLESS

STEEL

CONNECTION

PLATE

(8) #10X1" -SQUARE DRIVE

SCREWS

C. RIGID PVC ASTRAGAL WITH ALUMINUM REINFORCEMENT

#10 X 1 1/2"
SCREW

LEFT FRAME

DRAWN:

V.L.

REV

A

3

DESCRIPTION

ADDED EDGE DISTANCES

REVISIONS

REVISED SIDELITE INSTALLATION DETAILS

)0{

1(

REV

B

DATE

11/05/14

05/14/15

MULLION COVER

R.L

R.L

ALUMINUM MULLION

#10X2-1/2"
SQUARE DRIVE

SCREWS

SEE SHEET 3

FOR LOCATIONS

3 4

MULLION DETAIL

-1'

13© 0

)0(

FRAME CONNECTION DETAIL

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

INSTALLATION DETAILS

SCALE
NTS

DWG NO.

08-01891

DATE 11/06/2014 SHEET
5 OF 9

APPROVED

P

RIGHT FRAME

L

SIGNED: 05/14/2015

»0:0 E N4·3« 

c=·t *_ STAT OF 'Gr
..«to

»fic=tr
4//// 111 \\\\\\



MASONRY/ -
CONCRETE

BY OTHERS

1 X BUCK --
OPTIONAL

SEE SHEET 1

BACKER ROD -
AND APPROVED

SEALANT BY

OTHERS

3/16" TAPCON

SILL TO BE SET

IN BED OF

APPROVED

SEALANT

EXTERIOR

IVIASONRY/ -
CONCRETE

BY OTHERS

4 1

-1

.4

4

2 1/2" MIN
EDGE DISTANCE

/1\

14 4
451" U 
. 6

4

4. . 6
. 4

4 .\

2 1/2" MIN
EDGE DISTANCE

t»f

<J

4

..

4

A

4.

INTERIOR

3/16" TAPCON

1/4
MAX

SHIM

SPACE

1 YAO, 0\ \
4 - Zl

4 4

4
4

&
4

4.

.

1 1/4" MIN
EMBEDMENT

DOOR VERTICAL CROSS SECTION

MASONRY/CONCRETE INSTALLATION

1 1/4" MIN
EMBEDMENT

EXTERIOR

[Rl

INTERIOR

REV

A

B

DESCRIPTION

ADDED EDGE DISTANCES

q

REVISIONS

REVISED SIDELITE IINSTALLATION DETAILS

1/4" MAX
SHIM SPACE

Inl- . ....CZE

d-,1. If

DOOR HORIZONTAL CROSS SECTION

MASONRY/CONCRETE INSTALLATION

g

/1

V

9

17

DATE

11/05/14

05/14/15

1 1/4" MIN
EMBEDMENT

2 1/2"
MIN.

EDGE

DISTANCE

3/16" TAPCON

1 X BUCK OPTIONAL

SEE SHEET 1

BACKER ROD

AND APPROVED

SEALANT BY OTHERS

NOTES:

1. INTERIOR AND EXTERIOR FINISHES, BY OTHERS,

NOT SHOWN FOR CLARITY.

2. PERIMETER AND JOINT SEALANT BY OTHERS TO BE

DESIGNED IN ACCORDANCE WITH ASTM E2112

DRAWN:

V.L.

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

INSTALLATION DETAILS

SCALE
NTS

DWG NO.

08-01891

DATE 11/06/2014 SHEET
6 OF 9

REV

B

MASONRY/CONCRETE
BY OTHERS

R.L

R.L

APPROVED

SIGNED: 05/14/2015

4,24'8:.:'t'Ut#
·:R·<>GEN;.·15)'56. 4.. S
Z * 0 010.,5251 *S
S»'94**grfs=
'0

64.OR\OF**·;
=47$/ONAL >>

.//0/1111\\\\\\



2 1/2" MIN
EDGE DISTANCE

A

Z .

<1

BACKER ROD

AND APPROVED

SEALANT BY

OTHERS

#10 x 2 1/2 SCREWS
LOCATED 6" FROM

EACH CORNER

AND AT PANEL CENTER

EXTERIOR

t» 8 /27 <L__5 L__5

..

V
4. .

4

4:

INTERIOR

#10 x 2 1/2" SCREWS -»
LOCATED 6" FROM

EACH CORNER ..

AND AT PANEL CENTER
4

4

SILL TO BE SET - \

IN BED OF \
8.' 'li. _%1» ·I

APPROVED \
SEALANT Ii-/ITI-B-

.

MASONRY/CONCRETE
BY OTHERS

4

14

<3

4

4

.

BY OTHERS ».

1 X BUCK -4  a .  2
OPTIONAL X 3

SEE SHEET 1 1-

 ./. f

1/4
MAX

SHIM

SPACE

3/16" TAPCON

F- 3/16"

I
1.

4

6 1

4
4

4

TAPCON

fiiA'./ % *\\\

\
1 '0 '0 %, /

1

1 1/4" MIN.
EMBEDMENT

4 +
.

2 1/2" MIN.
EDGE DISTANCE

1 1/4" MIN
EMBEDMENT

SIDELITE VERTICAL CROSS SECTION

MASONRY/CONCRETE INSTALLATION

INTERIOR

#10 x 2 1/2 SCREWS
LOCATED 4" FROM

EACH CORNER AND 21"

MAX. O.C. THEREAFTER

: XI

REV

A

B

NOTES:

1. INTERIOR AND EXTERIOR FINISHES, BY OTHERS,

NOT SHOWN FOR CLARITY.

2. PERIMETER AND JOINT SEALANT BY OTHERS TO BE

DESIGNED IN ACCORDANCE WITH ASTM E2112

ADDED EDGE DISTANCES

1/4" MAX
SHIM SPACE

3 E

EXTERIOR

SIDELITE HORIZONTAL CROSS SECTION

MASONRY/CONCRETE INSTALLATION

On

-E

DRAWN:

V.L.

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

INSTALLATION DETAILS

SCALE
NTS

DWG NO.

08-01891

DATE 11/06/2014 SHEET
7 OF 9

V

DESCRIPTION

REVISED SIDELITE INSTALLATION DETAILS

9

9

9 9
9 7

.

7

REVISIONS

9

.

,l,M,!,!lilli!11!,
9 7

9

.

REV

B

1 1/4" MIN.
EMBEDMENT

2 1/2"
MIN.

EDGE

DISTANCE

DATE

11/05/14

05/14/15

3/16" TAPCON

R.L

R.L

MASONRY/CONCRETE
BY OTHERS

1 X BUCK

OPTIONAL

SEE SHEET 1

BACKER ROD

AND APPROVED

SEALANT BY OTHERS

APPROVED

SIGNED: 05/14/2015

4\\Al.lil/4/4..
.:R.<>.C:44.:cp,46 1

*7%*?Grkii
-%<1£;93>*f

4//// 111\\\\\\



BACKER ROD

AND APPROVED

SEALANT BY

OTHERS

1/2" MIN.
EDGE DISTANCE

#10 WOOD SCREW

SILL TO BE SET

IN BED OF

APPROVED

SEALANT

EXTERIOR

) NCI,

-1

2X BUCK/WOOD FRAMING
BY OTHERS, 2X BUCK TO
BE PROPERLY SECURED

* 1 3/8" MINI.
EMBEDMENT1 :

/55. - &I /4-

__21__------------ =/ 1

1/4" MAX.
SHIM SPACE

.4
4.

4 4

11 IL=2=3*77.'r vr.·.· · · t

/0/ /4//4/ 11

/0/ /0/ /4,
1 t 11 // Z-

\

1/2" MIN
EDGE DISTANCE

INTERIOR

F #10
WOOD

SCREW

E-7

/7/4/ /7/0/ /42/517 / 1
\

1

1 3/8" MIN.
EMBEDMENT

DOOR VERTICAL CROSS SECTION

2X BUCK/WOOD FRAMING INSTALLATION

INTERIOR

EXTERIOR

REV

A

DESCRIPTION

REVISIONS

REVISED SIDELITE INSTALLATION DETAILS

DOOR HORIZONTAL CROSS SECTION

2X BUCK/WOOD FRAMING INSTALLATION

DATE

11/05/14

05/14/15

R.L

APPROVED

DRAWN:

V.L.

SCALE
NTS

NOTES:

1. INTERIOR AND EXTERIOR FINISHES, BY OTHERS,

NOT SHOWN FOR CLARITY.

2. PERIMETER AND JOINT SEALANT BY OTHERS TO BE

DESIGNED IN ACCORDANCE WITH ASTM E2112

B

ADDED EDGE DISTANCES

1/4" MAX
SHIM SPACE

1 3/8" MIN
EMBEDMENT

1 1

:; 1 {34-Q

h,Vf#1111,111#*NHN 11#*A ' 4

1 1 11

:{5,0 /0 50/// .

CCC

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

#10 WOOD SCREW

BACKER ROD

AND APPROVED

SEALANT BY OTHERS

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

INSTALLATION DETAILS

DWG NO. REV

B

R.L

-- 2X BUCK/WOOD FRAMING
BY OTHERS, 2X BUCK TO

BE PROPERLY SECURED

1

1/2" MIN.
EDGE DISTANCE

08-01891

DATE 11/06/2014 SHEET
8 OF 9

SIGNED: 05/14/2015

%445£*»22
50 . /4 .4,.0

<5**SOR\OF.'*#-2
=47$/ONAL >>

.//0/1111\\\\\\



2X BUCK/WOOD FRAME
BY OTHERS, 2X BUCK TO

BE PROPERLY SECURED

HACKER ROD

AND APPROVED

SEALANT BY

OTHERS

#10 x 2 1/2" SCREWS
LOCATED 6" FROM

EACH CORNER

AND AT PANEL CENTER

EXTERIOR

#10 x 2 1/2" SCREWS
LOCATED 6" FROM

EACH CORNER

AND AT PANEL CENTER

»)Oil

-1

//5-1 #
/ 3><C *

/ //™---LE
//

+t

- L___3 <1_3

,.

4,

V

4 « 3%5
r

4.

1/2" Mil\1.
EDGE DISTANCE

1 3/8 " MIN.
EMBEDMENT

1/4" MAX.
SHIM SPACE

X

INTERIOR

#10 WOOD SCREW

#10 WOOD
SCREW

4

1 2 .4

SILL TO BE SET -1

IN BED OF 0 1 '-1 i[LL

/0, /0/ /0, / /APSPERA /L] 6

11 11 il 11 11 11 11 11 .Ulilli /2 44/ //
It i 1 11 1111 It

11 11 11 11 #l 11 1111 1'*.1 1 11 11
':i' It

S- -3 EMBEDMENT1 3/8" MIN.

1/2" MIN
EDGE DISTANCE

SIDELITE VERTICAL CROSS SECTION

2X BUCK/WOOD FRAMING INSTALLATION

#10 WOOD
INTERIOR SCREW

#10 x 2 1/2" SCREWS
LOCATED 4" FROM

EACH CORNER AND 21"
MAX. O.C. THEREAFTER

5 /jj/j
EXTERIOR

REV

A

B

DESCRIPTION

ADDED EDGE DISTANCES

REVISIONS

REVISED SIDELITE INSTALLATION DETAILS

1/4" MAX
SHIM SPACE

\\ n

1 3/8" MIN.
EMBEDMENT

DATE

11/05/14

05/14/15

R.L

R.L

APPROVED

4.,C

r, 1/2" MIN.
EDGE DISTAI\ICE

.f 2X BUCK/WOOD FRAMIING
. 1 ---11 BY OTHERS, 2X BUCK TO

BE PROPERLY SECURED

SIDELITE HORIZONTAL CROSS SECTION

2X BUCK/WOOD FRAMING INSTALLATION

NOTES:

1. INTERIOR AND EXTERIOR FINISHES, BY OTHERS,

NOT SHOWN FOR CLARITY.

2. PERIMETER AND JOINT SEALANT BY OTHERS TO BE

DESIGNED IN ACCORDANCE WITH ASTM E2112

DRAWN:

V.L.

BACKER ROD

AND APPROVED

SEALANT BY OTHERS

NAN YA PLASTICS CORP. USA

8989 NORTH LOOP EAST

HOUSTON, TX 77029

OUTSEING ENTRANCE DOOR (SLPS) NON-IMPACT
W/ & W/0 SIDELITES FIBERGLASS CLAD

INSTALLATION DETAILS

SCALE
NTS

DWG NO.

08-01891

DATE 11/06/2014 SHEET
9 OF 9

REV

B

SIGNED: 05/14/2015

4\\Al.lil/4/4..
.:S:t.<>.C:44.:cp'46 1

*7%*?Grkii
-%<1£;93>*f

4//// 111\\\\\\


